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Guess Paper – 2010

Class – XII

Subject – ECONOMICS

General instructions:

1. All questions i both the sections are compulsory.

1. Marks for questions are indicated against each

2. Questions 1 -5 and 17-21 are very short answer questions carrying 1 mark.

They are to be answered in one sentence each.

3. Questions 6-10 and 22-26 are short answer questions carrying 3 marks each.

Answers to them should not normally exceed 60 words each.

4. Questions 11-13 and 27-29 are also short answer questions of 4 marks each.

Answers to them should not normally exceed 70 words each.

5. Questions 14-16 and 30-32 are long answer questions of 6 marks each. A swers to them should not normally exceed 100 words each.

6. Answers should be brief and to the point and the above word limits be adhered to as far as possible.

7. All parts of the question should be answered at one place.

INTRODUCTORY MICRO ECONOMICS

1. When demand for a good falls due to factors other the price, what is the

change in demand called?[1 ]

2. What is meant by an economic problem?[1 ]

3. In which market form are the goods sold at a uniform price?[1 ]

4. What do returns to scale refer to?[1 ]

5. Define opportunity cost.[1 ]

6. Distinguish between contraction of demand and decrease in demand [3 ]

7. Define price elasticity of supply. How is it measured in case of a straight-line

supply curve?.[3]

8. Explai the problem of what to produce with the help of PPC.[3 ]

9. What will be the effect of the following changes in total revenue on marginal

revenue:

a. Total revenue increases at a decreasing rate

b. Total revenue increases at a constant rate .[3 ]

10 .The price elasticity of demand for a commodity is 3.A household demands 30

units of the commodity when its price is Rs.6 per unit. How ma y units of this

commodity will that household demand when its price falls to Rs.5 per unit?[3 ]

11. Define Monopoly. Explain three features.[4 ]

12. Find the maximum profit position of a producer by comparing TC and TR on

the basis of the following data:[4 ]

Output AR AC

1 12 7

2 11 9

3 10 10

4 9 11

5 8 12

13. Explain the effects of technological changes and rise in price of inputs on the

supply of a commodity.[4 ]

14. Show with the help of diagram the effect on equilibrium price and quantity

where (i)demand is perfectly inelastic and supply decreases,(ii)supply is

perfectly elastic and demand increases.[6 ]

15. Define Consumer ’ s equilibrium. Explain the conditions of consumer ’ s

equilibrium in terms of marginal utility schedule in case of single commodity.[6 ]

16. Explain the three types of changes that take place in product when a firm tries to increase its output by increasing the quantity of only one factor of production.[6 ]

INTRODUCTORY MACRO ECONOM ICS
17. If marginal propensity to save is 1, how much will be marginal propensity to

consume? [1 ]

18. What is meant by open market operations?[1 ]

19. Give the meaning of macro economics.[1 ]

20. What happens to the level of national income if aggregate demand is greater

than aggregate supply?[1 ]

21. What will be the effect of a rise in bank rate on money supply?[1 ]

22. What is meant by investment multiplier? Explain its working with a numerical

example.[3 ]

23. Explain the components of S=-a +(1-b)Y.[3 ]

24. Explain the components of factor income.[3 ]

25. Explain a y two drawbacks of barter system. How does money help in removing these drawbacks?[3 ]

26. Will the following be included in domestic factor income of India? Give reasons In support of your answer.

a Old age pension give by the government

b Salaries of non--residents working in India embassies

c Profits earned by a branch of State Bank of India in England..[3 ]

27. Explain four functions of commercial banks.[4 ]

28. What is deficient demand? Explain how changes in taxation and bank rate are helpful in correcting it?[4 ]

29. In an economy, the marginal propensity to consume is 0.75.If investment

Expenditure is increased by Rs.500 crores calculate total increase in income and

consumption expenditure [4 ]

30. Explain the steps involved i the estimation of national income by value added

method. State any two precautions that must be take while estimating this method.[6 ]

31. Explain the equilibrium level of income and output with the help of consumption and investment curves. If planned savings is greater than planned investment, what changes will bring about equality between the two?[6 ]

32. From the following data, calculate Gross National Product at Market Price by

(a)income method and (b)expenditure method.[3+3 ]

Rs. In crores

1 Mixed income of self employed 400

2 Compensation of employees 500

3 Private final consumption expenditure 900

4 Net factor income from abroad [-] 20

5 Net indirect taxes 100

6 Consumption of fixed capital 120

7 Net domestic capital formation 280

8 Net exports [-] 30

9 Profits 350

10 Rent 100

11 Interest 150

12 Governme t final consumption expenditure 450

Paper Submitted by: Sarita Patnaik

Email : saritapatnaik9@gmail.com

Ph No. : 9968052553

-------------------------------------------------------------------------------------------------------
www.cbseguess.com
Other Educational Portals
www.icseguess.com | www.ignouguess.com | www.dulife.com | www.magicsense.com

[image: image1.png]